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1 Introduction
In RAN#68, a work item on LTE Advanced 4 Band Carrier Aggregation (4DL/1UL) of Band 41, Band 41, Band 42 and Band 42[1] was approved, and specifying the RF requirements for CA_41C-42A with 1UL and 3DL was also covered in this work item. This contribution provides a text proposal on ∆TIB and ∆RIB values for CA_41C-42A with 1UL/3DL for TR36.853-13[2]. 

The WI only supports the scenario of UE not supporting simultaneous Tx/Rx, the ∆TIB and ∆RIB values for CA_41A-42A can be reused.

2 Reference

[1] RP-150627, “New WID: LTE Advanced 4 Band Carrier Aggregation (4DL/1UL) of Band 41, Band 41, Band 42 and Band 42”, ZTE
[2] R4-153950, Rel-13 3DL CA TR 36.853-13 v0.6.0
3 Text Proposal

----- Start of TP -----
7.x.4
ΔTIB,c and ΔRIB,c values
For the UE which supports inter-band carrier aggregation configurations with uplink assigned to one E-UTRA band the ΔTIB,c is defined for applicable bands in Table 7.x.4-1.

Table 7.x.4-1: ΔTIB,c for 3DL aggregation

	Inter-band CA Configuration
	E-UTRA Band
	ΔTIB,c Inter-band with one active UL serving cell [dB]

	CA_41C-42A
	41
	0

	
	42
	0.5


For the UE which supports inter-band carrier aggregation configuration in Table 7.x.4-2 with uplink in one E-UTRA band, the minimum requirement for reference sensitivity in Table 7.3.1-1 [2] shall be increased by the amount given in ΔRIB,c in Table 7.x.4-2 for the applicable E-UTRA bands.

Table 7.x.4-2: ΔRIB,c for 3DL aggregation
	Inter-band CA Configuration
	E-UTRA Band
	ΔRIB,c Inter-band with one active UL serving cell [dB]

	CA_41C-42A
	41
	0.4

	
	42
	0.5


NOTE :
The ΔTIB,c and ΔRIB,c values in Table 7.x.4-1 and Table 7.x.4-2 are only applicable for UE supporting inter-band carrier aggregation with uplink in one E-UTRA band and without simultaneous Rx/Tx.
----- End of TP -----
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